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������� 4 – 0����(����� � ����)����! ���"�!  ������%�����$

����
��
���

� 
�
���

, 
����"������ ��! ����

 ������"��-

��
 �����������
!, '�����! 
� ��'�
�

��! ����

 ������ 
�����
! ���'
�"����
 ��
����������

������� ���'���
�� ������
�" 
���� ��������
! �� 
��
�
����"���

������
!� 
 ��'��
�" �
�

 ������ (�
��%��!, �
�������
��"��!,  ��-

#��
��
���
�!, ���
���
��"��!, ��������!) � �
����
�� �������
!

�����
�
�
���&�% ���
�

 
 ������������&�#� 
����
�
���� ��-

���
�
���

. B�� '��"*� ������
� 
����
�
���� �����
�
���

, ���

���*� �����! ���
�
! ��
������ ���������� �����"����. $����"��!

�������
� ��
'���� ������!&�% ���
�

 ���'���
�� ����#���
��-

���" ������
� ��
������! 
������� 
 �
�����
� ���
��� 
�����
! ���-

'
�"����
 ��
���������#� ��������.  

��� 621.37 

����. (.1. 1
��

%, �. $. 2�����


����. ��
. ���. �.C. ��
��
, ��. ������. $.�. ������
���
(
������ �������
���

 ���
������������ ��������� 
 ���
�������


, 	� �) 

���2�4�������2�	 <9� � ��
�


<�
/�����02��2�0� �����9��
��  

4��
�����#�
���� ����������� ���
���� ����
���"��� ����

����
 ��
'����, ��������������� ��! 
������
! ������� +
�
����%. 

B���� ���
�����#�
���� 
������
� ������� !��!���! ��
'���� ���
-
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���"��� ��*��
��. ����
���, ��
 ��������

 ��
'��� 
������
!

���
���

���
���
�#� ������
��� (4�() 
����"�����
� ���
�����#-

�
���#� ����������� �'�����
�� ��#��
���
� ��#��
��� �������
!

�������#� ��������� [1–2], �� ��#��*����" 
������
! 4�( �� ���#��

�������!���! �������"� ����
�
�����
! �')����#� ������� ��
 ���
-

���������. 8���� �')����� ������� +
�
���
 � ����'����������

4�( ����
�
���� ���'����
! 
 �������
 
������
! �����������. 

2����'������� ��
��
�
��"��� ����� ���
�����#�
���#� ���-

�������� ��+�� ������
�" �� ���
��"
� ���
�
����"��� �����%. 6�-

#��
�� ����
�����
! 
����
���"��#� �
#���� ���&�����!���! � ��-

��&"� DA1, DD2, DD3, DA4 (�
����
 1). 4�
 �������� ������ �����-

�� 
 ����
���� �
#��� ����
��"��% ����� (�
����
 2), 
�����% �����

����'���������" ����!+��
�-��
 �'�����
���� ������

���"��� ���-

�� ��
� ����� 
���*
� (�
����
 1, I), ������&�� ��#�
���� ���� � 
�-

���
���"��� 
�����. 
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������� 1 – ����*����� ��$ �������'����$ �����
A
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t

t

t

t

t

t

t

t
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T

2bb h

,�����% �
#��� �
#��� 
������
!
��
�

������� 2 – �������#� %��(����#    ������� 3 – �����*��%�� �#! ��(���

$����"�����
� ���+��#� ��
��� 
������
! ��
� ����� 
���*
�

������� ���'���
����"� �
���
�����
! ��#��*�����%, �'��������-
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��� �����
���% ���������������% 4��.  �����

���"��! ����� ��
�

(�
����
 2) !��!���! 
������
����� ��*��
�� �������
! 
����
-

���"��#� �
#���� ���
�����#�
���#� �����������. ���"��%*�� ����
-

���
� �������
 
 ����*��
� ����*��
! �
#���/*�� (SNR) � 
����
-

���"��� ���
�� ����
#����! �� ���� ����"*��
! ��&����
 ��������-

�������% 4�� ��
 ���
�
���

 ��������� ���
�
�����% ��
��� 
�-

�����
! ��
� � 
���*
�. 

SNR ���
�
�
�����
 ���
��
�% b 
 h ��
 ����
���� �
���

���������������% 4��. � ����������% �������"� ��+�� ������
�", 

��� ���������������! 4�� ��
�������! 
�
 ���
�
! ����� ����"��#�

�
�������
�����
!, 
���&�#� ������������ ���
�
�

1
)(

+
=

pT

pK
pW

f

f
. (1) 

.����, ����
���� 
 ��
���"����" ���������������% �����
 �

�������� ���
�
� �� h, Kf 
 Tf. 5��
 �������� h ��+�� ���"
�����", ��

Kf 
 Tf. ���
�!� �� ����
���
��

 ����
���#� ����'���������!, �����!-

�
! ���
������ 
 ���������� 
����!���% ����� (�
����
 4). � ��'���

���
������� ����
� ��
!�
! Tf �� ����*��
� �
#���/*��, ��� ������!-

�� ��
���*
� �'����� ��'
���" ������� 
 ���#
� ��������� 
����
-

���"��% �����. 

6���
� ����
���
��

 ������
��! � 
����"�����
�� #�����
��-

�
�#� ����
��. ��! �
#���� 
������
! ��
� (�
�. 3) �����+��
� � �!�

.��"� ���� ������&
% �����"���: 

( ) ( )�
∞

=

ω�
�

�
�
�

�
ω�

�

�
�
�

�
�
�

�
�
�

�
−

−π
ω�

�

�
�
�

� π
ω

ω
=

1
22

sin
2

sin
2

sin
2

sin
8

k

S kt
h

kb
h

kk
kh

tf

t

Tf.=0,4 T/(2π)

Tf.= 0,03125 T/(2π)

������� 4 – 4���# �����-���������! <9�

� ������ (1) ��������! ���
�
����" �
#���� ���������������%

4�� '���� 
���" �
�
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( )

( )
.

1

1
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2
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2
sin
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1
22
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h
k

b
h

kk
kh

tf

f

f

f

k

N

ω+

ω

�
�

�

�

�
�

�

�

ω
+ω�

�

�
�
�

�
ω×

×�
�

�
�
�

�
�
�

�
�
�

�
−

−π
ω�

�

�
�
�

� π
ω

ω
=�

∞

=

,�����% �
#��� ��
�������! ����+��
��: 

( ) ( )ktk
k

tf
k

R ω�
�

�
�
�

�
�
�

�
�
�

� π
ω

πω
=�

∞

=

sin
2

sin
4

1

2

� 
����
���"��% ����� � ����&"� ������#� �
#���� ���
����
�

�������
� �������% �������!�&�%. 8�&����" �
#���� �� ������ ���-

�� �
�������#� ����
�
�����
! [3] ������������� 
���#�
�����
�


������� ������#� ������
! ��������% ���
�

 �� �� ���
�� � ����-

+��
�� �� –1 ��
 ���
�����"��� ������� �
#���� (��! 
����"��#�

�
�"��� �
�

� ������ �� ������ �
�������#� ����
����). $����! 
�

������� (�������!  

��
∞

∞−

∞

∞−

ωω= dXdttx
22

)()( , 

��&����" �
#���� ��+�� �������
�" 
�
 ����� 
�������� ����
���

������� #�����

 ����� �������+��
! fR(t) �� fS(t) 
�
 fN(t).  

(�
 ����
���

 ��������� ����� b ��&����" �
#���� 
 �����


����"*����! �� ����
���� ���
�
����!�, ��� �'������
���� ���
�
�

��
�
���� � ����*��

 ��&����
 �������#� �
#���� PS 
 ��&����


�����
 PN 6���
� ���
�
�����% (�
���

 4–9) ��
�������, ��� �� ��-

��+��
� ��
�
���� ��&�������� ��
!�� ������
� �
�����
 ��������
!

��
� 
 Tf,, #�� 1 – h = T/8; 2 – h = T/12,5; 3 – h = T/25; 4 – h = T/50;5 – h = 

T/100; 6 – h = T/10000000. ����
���
� h �����'������ ����
���
� ��-

��*��
! �
#���/*��, ����
� ��&������� �
�
���

� �#���
���
! ��

����*��
� h, �'����������� ���'������!�
 �������� 
������
! �

���
�����#�
���� ������������ 
 ���
�������
 ���������
. ,��
-

���"��� (��
�
���"���) ������
� ����
���
��

 SNR(b) ������+���

��
!�
� 
�
 Tf, ��
 
 h. (�
 Tf > 0,125T/(2π) �� ����+��
� ��
�
����

���
�
���

 ��������� ��
!�" h, ��� �������!�� 
�
���
% ��'��� ��
-

�
���"��% ��'���% ������� 
����
���"��#� ����'���������!. ����
���

��
��&��
! ���
�
�� ��
�
���� ������!�� ��
���������" ����+��-

�
� ����� ���"
� ��
 ����
���

 ������*��
! h > T/25. 
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������� 5 – 2������&�"����$ &�"������� ����=���$ ��(���/=�� %�$

��&��'�#� b/bmax ��� Tf = 0,625T/(2ππππ) 
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������� 6 – 2������&�"����$ &�"������� ����=���$ ��(���/=�� %�$

��&��'�#� b/bmax ��� Tf = 0,125T/(2ππππ) 

0 0,2 0,4 0,6 0,8 1

0,1

0,2

0,3

0,4 1

2

3
4

5 6

   

������� 7 – 2������&�"���$ &�"������� ����=���$ ��(���/=�� %�$

��&��'�#� b/bmax ��� Tf = = 0,03125T/(2ππππ) 
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������� 8 – 2������&�"����$ &�"������� ����=���$ ��(���/=�� %�$

��&��'�#� b/bmax ��� h = T/8 
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1$ 526 �26

1. $.,. ,��'�%, �.6. ��
��
, �.5. 9���

%, $... ���"�
�

%.  

$����
���" ���
���

���
���
�#� ������
��� - (�
'��� 
 ����

�

�
����
�����, 2005, :3, ���. 1–4. 

2. $.,. ,��'�%, �.6. ��
��
, �.5. 9���

%, $... ���"�
�

%.  

4��
�����#�
���% 
����
���" �

���������� – ����


 
 �
����� - 

: 3, 2005, �. 46-49. 

3. 9. 8�
�. 8����� 
 ����

� �'��'��

 �
#����� ��
 �
�
��-

�

� 
������
!�. – 8: 8
�. – 1983. – �.312. 

��� 681.5 

����. �.(. ?
����, �.B. 6��*
��
�  

����. ��
. ���. ��
��
 �.6. 
(
������ �������
���

 ���
������������ ��������� 
 ���
�������


, 	� �) 

������������	 ����
�
 �
2���	���  

2� ��� «�<�� ��. �. �. /������» 

$�����

 
�������

: ,6, «84 3 
�. �. $. �������». ;��"

�������� – �������
� �������#� ������������#� ��+
�� � ����&��



���!���% (���
���"��% ( =19 - 21°�) 
 ������
��% ( =17 - 23 °�)). 

������
 ����&��
! ���!���% �����
� 
� ��
�����% 
 ���!+��%

����
�!�

, ����
����+����% ������

 �� ��
��
�, ������
���"��#�

�������� #�������
������, ���!���� �����%��� 
 �

����!����� 
 ���-

�

� ����������� ����&��
!. 

�� �����
� ����
�����, ����������� ��
�����! �
����� ������-

�
!, � 
������ ����
� ��
�����! ������
�, �
�"��, ���!��% 
����
-

���, ����
�!���, ��������% ����'���������", �
�
��!�
����% �����, 

��#��
���&
% 
�����, ����

 ����������� �'�����#� ��������
���!, 

����

 ����������� ��
�����#� �������, ��� ���� �������� ������
!

�� ����
�!��� 
 �
�"�� 
 ��������� ��&
�� �� ��������
! ��������
-

���!. 

(�
 ���
� ����
���"��% �
�����, ��
�������! ��
�����! ��-

����
� 
 ��#��
���&
% 
�����, �����
����! �
�
��!�
����% �����. 

3����
����! ��+
� ���#���� 
����
����, ���
 ����������� �'�����#�

��������
���! �
+� 50°�. ����� �����
����! ����
�!���. 2�#��
����-

�
� ����������� ������� � ��
������ 
����� ���&�����!���! ������-

����� ��������
! �������� ��������
���! �� ��#��
���&
� 
������. 

��! ������+��
! � ����&��
!� ������"��� �����
% �����*��%

�����, ������������&
� ���
�����-#
#
��
���

� 
 �������#
���

�

���'����
!� - �����
���� ����
�!�
�, 
�����! ������� ��#��
�����-


